MATHX.NET

Polynomials - Simplify 6 monomials and fractions with 2 variables:
Simplifying monomials and fractions with two variables:

1) 21a20% 1302 + 4102 Z 1212 4 20207 + 4102
3 7 3 8 2

1 7 1
2) 1322 = nd + 1Em3n3 +2—m’n? + 3§m2n2 - S%n2

3) 1 men + 2108 + 12020 - 13m0 + 120° - 28
6 6 8 4 5 7

1 1 1 1
4) 3Zy% +2x° + 35X + 3=x°y + 1=x%y - 2y°
) 35y 5 g Y rIoxy -2y

1 2 5 1 5 2
5) 3-X%Y? +4— + 1=x%y* - 3=xy® + 4=xy® + =x%y°
) 3 XY AL HITXYT = 30Xyt +A YT+ XY

1 1 2 6 1 1 7 4
6) 2x%° - y+3=y+3x%y +3-x%y° - =x° 7) =Xy +3oxy + Xy ——Xy + 2xy + =X
) YT —YH Iy HICYH I Xy ) XA XY m Y+ 20y + Xy
1 1,5 .1 1,5 .3 1 4, 6, 1 1 5
8) - +2-_ Xy +3_-+1_xy +3—y-1_- 9) 1 X" =X+4_X" —_Xy+4_xy+1—-x
)2 7 Y 2 3 Y 4y 2 ) 5 7 2xy 3xy 6

1 1.1 1 2 1
10) =x%y® - 1= +2=x%y® —2=x3 +2=yR + 3-
) Y Ty rEgY T2 37 "7y

1, ,1 1, .3 2 5,
11) 4=y +1-y+=y3 + 12y + 15y - 1=
) 3y 3y 5y 5y 3y 7y
5 3 1 3:,2 1 3,,2 1 3 3 1 3:,2
12) 3—y° —-1—x + 3—X —-—y +5y° +2—Xx
) 8y 5 y 5 y 6y y p y
4 3 5 1 1
13) 1-x°y? + 1=y° + 12Xy + 2=y + 1=y° - 8x°y°
) c y 4y - y 4y 4y y

3
14) 112 e1243, 3t gl e
5 3 8 2 6 7



1
15) 3013t sz a2t ol
7 4 8 5 3
16) 22 rd 1ty -sti ez o138
6 2 6 4
122 132 122 132 122 732
17) 2—xX°y° —2—=Xy* +2—Xy° - 1-X"y* + 5—-Xy° + 3—X
) 25Xy m2 Xy + 20Xy~ IoXYT + 5 Xy + 30Xy
1 3 S 3 S 3,,2 2 3 1 3,,2 7 3
18) 1 X" +4—y  +4—Xy +3-_X +1 Xy +—
) 5 8y 8 y 5 2 y 8Xy
19) 110202 + 214+ 330202 - 20+ 234 + 5a2?
2 6 4 4
2 2 3 6 1
20) 3=x+1-y*+=y* +3x+ 1=y + =X
) 5 3y 4y 7y 2
2
21) 2202 + Zab? + 25ah + 4 tab? + 12ab? + 31alb
7 5 7 4 2 4
4
22) X%y + 2533 + 2 3 Oy? + X2y +3 §x3y3 +1 1 x2y?
4 5 4 2
4
23) 2n% + 23w ot ratp 121ty 24) 6x%y° - x + 11x2y3 -x+—=x%y°® - 13x
4 5 5 8 8 5 4
1 2 5 5 5
25) X°y® + =x%y + =x3%y? + 1ox%y + 1 ox%y — 1=x3y°
) XY HOXY XY 1oy 1y — 10Xy
1 3 1
26) =v* +=u?v® + 13 1+ 12 e Sae
2 3 4
3

1,4 2 5 .5, 1 4 1, 1
27) 3=y +2oxy® + 1=x8y + 1-xyS + =Xy — =
) 3y 3><y 8y 4><y 3y3><y

28) 3b® - 11a0% + 110° - b + Sp? + 13407
4 4 3 7



5 3 1 3
29) 2x% = 2=xy? + XZ + =xy® + =x°y* - =xy*
) Y YAy
30) 4X2y2 _ 5y3 + 4%y3 + 4%X2y2 + y3 _ X2y2
1 3 S 3,,2 2 1 3,,2 3 2 3 3
3]) 1y +1- Xy +3XYy-1-XxXy +1-XYy+2—
) PSR y-lgxXy +l xy+2oy
1 1 2 7 1 3
32) —uw* -V +=udv-3—v + v - Uiy
2 8 3 8 4 4
1 3 1 5 4
33) 4=xy? - 125%2 + 1X%2 = 2xy? + xy° + =X
) Y T LYY S OXy Ayt XY
1 1 1
34) 11u3v - 1§v3 + v+ v+ =v—-Udv
3 7 2 5 2
3
35) 2t reu+ 1iuave - 3§u +=u- 1§uv3
6 2 8 7 5
1 1 5
36) Ga+4—ab+1-ab+2a’b+7-ab-a
3 8 8
1 3
37) —wl-uAi + VT P E N
3 3 4 5
1 2 1 1
38) 1ot s tnse2tnd e 2o 39) 31y2 + Zﬂxg‘y + X%+ 2y? + = y? + 3x°
7 4 3 7 3 7 6 3
4 1 2 33

133 53 3
40) 1-x°y° +3=y +8y* +2— +2= -2
J Ay H 3Gy HBY Ry m Xy

2 2 1 3 6 2
41) =X+ 1=x%y% + 12x° - =xPy? + =Xy - 1=y
) 3 7 Y 2 4 Y 7 Y 3y

1 7 1 1 1 1
42) 1=X+—xX°y+3=x+ =Xy + 3=x3y + =x°
) 5 8 y 6 3 y 4 y 4 y



1 1 2
43) =a’b-=a’b® + 42330 + Za? + 41a? + 22420
3 2 5 7 3 3

44) 31x2y2 —3+45 1124325212
4 8 '8 7 7

1 7 6
45) =n®* —-—m’n® + —m>n® + 11n3 +m°n® -n®
5 8 7 6

1 1 7 1
46) —udv - u?v® + 5023 + =ulv + 2—Uiv + 4=uPVP
3 2 8 6
2 1 1 1 1
47) 1=mn+4=m*n+1-m°n® - 2m®n+=mn+2=n
3 8 2 6 2

1 1 3 1 1
48) 138 - Zgu2 +=v3 + 2§u2 i Ve 49) X}y += + o1, 4£x3y + 11x3y +=
5 5 7 8 2 5 2 2 2 5 3

1 1 1 1 1 5 1
50) 3=xy° —3=x+ xy> —2x+ 1=x+ 2xy° 51) a?-3=a’+1=-a®-3Za’?+1-a®*-a?
) 2xy 5 i 4 Y ) 8 4 8 5

3 2 1 4
52) —y? —2=x° + T=x% + 4—y® + 2x* - 2y?
) g¥ 2 5 Y y

1 1 2
53) —m? — 2 e+ m? - 3tmen+ i + Zoen
6 5 3 2 7

6
54) x%y® + 12,8 1§y3 + 11x2y + 32y3 55) 2n? + 703 gli3 2
7 7 8 4 3 6 4 6 8 7

3 2 1 3 1
56) —x + 2x%y° + 2=x + =x%y° + =x%y® —1=x
) 5 y 7 2 y 7 y 2

57) 2—x°y = 1—xy + 2—X°y ——X +y+3—X
) 3 y 5><y c y 3 y +y 3 y

4 3
58) 1§x3y - 2x%y° + ;xzy3 - 2x%y + 8x%y® - gx3y



59) 4%“ + 1% + 4%n - %mzn2 + :%%mzn2 - 3%

60) %U?’V - 1gv + 4%u3v - %V + 4%v + gu?’v

61) 4%xy2 - %xg’y2 + 4§Xy2 - 6%X3y + ngyz + 1%X3y2

62) 4§x3y3 - 32 +x%y° - 2% + ZEX2 + 2% 63) lgx - %x3y2 + gx3y2 - X+ zgx + gxy
64) 123/— 123/2 + 4§Xy3 + 3%y2 + 1%y2 + 1%3/
65) 1§x3 + 3%xy+%x3 - 6xy+%x3 N 1§xy

66) x°y” - 1%X2 + 4%x2y2 - 1§x3y3 + gx3y3 - x%y?
67) 423/3 - 3§y+ yl+2y+ 1%x+ a

68) gx - 2338 + 4%)( - %X3y3 + 4% + 2%X3y3

69) %xy3 - 1% + 1§x +7xy° + 1% - léxy3

70) %x2y+ %y?’ + 3§xy2 - gXZy + 4§y3 + éxzy

71) UPv+ lguv2 + 3%u3v - 6uv? + %uvz + 1%u3v

72) 31 + Em3r12 + Em3n2 + 1ﬂm2n3 R m’n®
2" 3 7 >



1 6
73) 3252 - 28% + 1087 + —a° + &° + 2a’h’
7 5 3 7
74) 12 m® — 2 + 22me + 1108 + 13mn + 1208
5 5 4 4 5
S 3 1 3 1 2 3 3 2 3
75) 2—-Xy" +3—XYy+=XY-2Xy+1—xy° + X
) Y H I XY XY y+1 97+ Xy
1 1 1 1
76) 1-a+ 122 +3%a- 2102 + ga—3la?
2 7 4 2 4
1 5, .4 s .2 1 1 4
77) 1—xy° —=1-—x+2xy° —=1—Xx+2—X+—
) 3xy 7 i 3 4 3xy

1
78) 2m°n + 32m+ 3§m3n +7m+3%m-Lmen
6 4 5 2

1
79) ol _3leiibesatil _3le
6 3 2 2 5 2

5
80) —a’b + 110258 4 4222 + 2 0% + 1 1a%p2 + 2 et
8 2 3 2 3 5
5
81) 13m0 - 15mn2 + 5mn? + 2mPn + 42mn? + 2men
5 8 6 5
6 3
82) 22— 1t St S 3y 2t 180y
7 6 7 4 7 7
S 2,3 2 2 2 1 2,3 2 1 2,3
83) 2— XYy  + XYy+4—XY+4—XY +2Xy+1-X
) g <Y TXY+AXY+4 Xy y+12xy
2 1 2 1
84) —uv® - 3=uv+ 13w+ 33w+ 1202 + 11w
3 8 8 4 5 4
1

1 5 2 S 1
85) 1=y +1-x3+1-y+3=x* +1-x3 - =
) 2y 2 6y 3 7 2y



5
86) —a’b - 128202 + 222D + 1=a2h? + 2 a2b° — 3247
6 8 3 8 6 7

3

87) 2102 + 222h% + 1202 - 20%0° + 1207 - 150201
2 3 6 7

4
88) Xzyz _ EX3y3 + Xzyz _ 2X3y3 +4 é x3y3 _ lgxzyz

1 4 1
89) =~ - 32mn? + 25men? - & 4 onn? - 32
6 7 8 7 6

7 2
90) — +2p+a>g+12p+ 2t - 2%
8 3 8 3 2 5
91) 41u2v - 1guv + 3§uv +20%v + 11uv - 2033
2 5 8 2
1 5 1 2 3 3
92) 4=xy* + 4=xy? + 2=x%y? = 2= xy? + 3=xy® + =X°y?
)8xy g Y T2 Y T2y 3yt XY
3
93) 13men? =142 43202 + 42men? + 1202
4 5 2 5 6
94) 22ab° — aPh + 45ah + 1-Sab® + 42ah + 32ab®
3 5 2 3 6
1 3 2.2 2,2 3 1 2.2 2
95) En +m°n° +2m°n° +n +3§mn -mn
3
96) —v+2u+ud+ 22y 4 220 - 203
7 7 6

1 1 1 4 1 1
97) =X + =Xy’ + =Xy’ - 1y + 44Xy + 15X
) XXy y yra Xy +1,

2 3 1 3 1
98) —xy + =Xy’ +4=xy’ + 3=xy” + 1-xy° + 2
) 3Xy 8Xy 5Xy 4Xy 4Xy Xy



1 2
99) 2+ 11x+ llx?’y +=x+=x%y + 13
3 4 2 3 4

4
100) xy? + 2xy + Exzy2 - 8xy° + 3§xy - x%y?
2 5 1
101) 120 + 1008 + 2082 - 203 + 233 + 4
2 3 7 4 11

3 1 3 1
102) —b+1=a’b® +=b+=a%h® + 23 - 4022

4 2 7 2 4

1 1 2 1 3 3
103) 2=xy° +4-—x%? + =xy® + =xy? + 2—xy® - 1-x°
) 3xy 12 Y 7xy 2 Y 11Xy 4 Y

7 3 1 3 7
104) 9y —2—y* +—y* = 2=y +1-y+1—y?
) 9y 9y 5y 4y 4y 8y

105) ab? - a2b? + 1 2a?h? - 2ab? + 41a2bd - Sab?
6 2 7 3 8

32t ie,cla 5 2.2.2 4 3
106) 4—xy° +4—-X" +5-X +4—xy" +_Xy* +5—X
) 5xy 7 3 12xy 3xy 11

107) 62y3 C122 + 1352 - 3£y3 + 31y ot
3 4 11 2 11

1 1
108) 11m?n® + 5 mn2 + 2+ 1memd + 12 m2n® - 122
8 4 3 11 6

4 3,,2 5 1 3,2 4 3,,2
109) 5—x +5—Xxy +—=Xy* +2xy + xy — 1—X
) = YT XY F 2y - 1oXy
2, 2 8 , 2 1, 2
110) 6—Xxy—1—X+5—Xy—-1—X+6— - 6X
) 7 y 3 11 y 5 12xy y

2 1 3
111) =a’b® + 2108+ Lath + 203 + 42%0 - 110%0°
3 2 6 5 7

2



1 9
112) 1 m2n® + 13m0 + Tnn® + Ln? + 1-2n2 + 32m2n?
8 4 4 10 12 9

1 2.,2 3 3 1 2 2 3 2.,2
113) 1—x - Xy + 2X°y+ —y° + 3—X°y — 8X
) 1 y y y 3y c y y

114) §y +6 y +1 y +4xy+—y +6% Xy

1 .7 1 .1 1
115) 4 135 y-3=+1—xy-1-+2-x3-6=
10 FRET 2 2 3

1 1 8 1
116) 6=x° + 66Xy + =Xy + —Vy? + 2x® — 2=Vy?
) 5 y 5 y 11y 4y

2 1 7
17) _x+ —x%y® + —x%y* - 5x + 2£x3y3 - X%y?

10 10
5 7 1 1
118) 5ﬂ - 3§y +oy+— + 2%y + -y 119) u+ 2uv + 61u - 4guv + 1gv2 +=u
5 7 6 12 9 2 3 11 5

5
120) 1ty e stz e atizy e o2 + 22y + 4002
4 10 3 8 8

4 1
121) 12 v+ 2 s vt s e Lty 428
10 9 4 5 10 9

3
122) b+1 3a20% + 52a2° - 32 b+21a2b3——b
4 7 5 4

1 3 1 1
123) —u?v? + —udv + 12022 - ey Laz - 12058y
11 5 6 3 2 8

3 2 3,,2 2 2 11 3,,2 1 2 3 3,,2
124) 1—y* + X’y + 12y = 2%y +3-y? - 1 X
T A M T A P TI

1 11 1 4 3
125 —x —15x%V3 +4—=Xx%y° — =xPy? + —XxPy? - 3=x%y°
) y? - p y T y 5 y 5 y - y



1
126 x +x+6x +15y?+6 x3y3
) =Xy 3y 8y 3y y? = =x%y

1
127) 6—x° + 4ly2 +=y? + 333116 1§y2
12 12 5 5 4 7
1
128) 8- 12 + 52ab? + Tb? + 12ab? + —ab? + 2b2
11 3 3 2
4 1 7
129) m*n® +—m?n? + 13020 + —min® + mPn® - 3 m2n?
5 4 10 9
1
130) 23memd - Lod + a2 mend - 2202 4 21 - 1202
4 2 5 6 3 3
S5 ;3
131) 4§x3y3—3%xy2+ —xy +515 X3y +16xy += xy

132) 112 - ZEuv3 TV PLATY 5§uv3 AENY
2 3 8 3 8

7 5 2 1 1
133) I I B S
6 8 3 6 2 6

1
134) 1253 - 2ix2y2 + 5§x2y2 ALV 1ix2y2 -=x3
7 11 7 4 10 2

1 2
135) 13ab + 5% + Tab - 1--a® + 2a® + 41ab
4 4 11~ 5 6

6 7 9
136) 2622+ 1t ! y —x?
5 8 7 2 11

3 5 7 1 5
137) 2xy +—=xy® + =xy - 3—xy> + 5=xy® + =
) 2xy 5><y 6><y 11><y 2><y 9><y

3 35 7
138 —x+2 +1-x+1=x° +1 X2y +1—
) a4 4 4 y 5 y llxy

-10-



139) a® +2a% + 33002 + 222 + 32a° + 12
4 10 9 10
7 2,3 1 2 2 2,3 3 2
140) 3—y—9xy° +1—Xxy° — =Xy  +—Xxy° +
) 117 Y HIDY Xy oyt Y
2 2
141) 4uv + Zguzv +—V2 + 1ﬂu2 + 1iv2 +=u?v
3 11 5 1 3
1 1 1 2
142) 2b° - 42220 + 1L 0% + 41p% + 110% + 3-2a%
12 12 3 3 11
9 3 5 3
143) n-—mn+—m°n*+—n+—mn+ 23n
11 10 9 7 5

1 4 3 7
144) =n® - 2m?n + 3§m2n -1-n®*+—m’n+3-n°
4 4 5 11 8

1 6 1 3
145 2 11 1p2 0 8 C 203 Loep2 3
6 3 7 3 2 4

3
146) 12008 + 4208 + 810 + 2120 + 6512V — 6P
6 3 5 4 4 10

1 2 7
147) =m*n® - 1 men2 + 1m0 + 2nn® + Len® - 1L
4 6 12 3 11 10

3 2 5 2. ,2 1 2.,2 2 8 2 1 2,2
148) 6—x° + 1—X°y“ +—X +X°+1—y —1—X
) 4 12 y 5 y 11y 2 y

3 3 1 1 10 2
149) =x® - 1°x%y? + =x%y? = 3=x3 + 2—xy + 5=x°
) 7 4 y 2 y 2 11Xy 3

3 a3 655 1 6 3,
150) 2=xy — 12x%y° + 2—=x3y® — =xy + 2—xy + 5—
) 4><y y - y 8><y 7><y 10y

3 .5, 5 2, 2 1
151) 15y +32y3 +—y+15x% + 45y +—x
AR TR 37 1

2

-11-



9 5 1 3 1 6
152) —vy? = 3=x3y? + 5=x3y2 + 2532 + =x3yS + 3—?
)11y 6 y 2 y 5 y 4 y 11y

153)5 xy —33xy +2 xy + xy? +4 xy +1 xy

9 2 3 3 1 3 3,,2 1 3 3 2
154) 1— -1=-X"+1—-X"-7X’y"+6—X"—-1—
) 1OXy 7 3 y 2 7xy

2 5 7
155) —mn® —n+-—mn® + 53n+5 me +12n
11 12 7 8 6

6

9 1 2 1
156) 2xy° + 1+ —xy? + = + xy°> + 2— 157) 2-2=ud +—
) 2xy 11Xy 2 Y 7 ) 3 10

5 6
158) —m?n? 1208+ 4t mn? - 3t + 2 ~23m
7 6 4 2 11 4

5 2
159) —Vv° + 6ot + 100 + 32023 + ZUA + 2208
12 10 5 9 3 6

160) 1ﬂx - 2i + 1§x + 3.E + 61 - 11x
5 11 4 8 6 9

12

5. 2
161) 1-a*-—ab+—a’+ 500+ 11ap + 4242
2% T80T 11 4 6

162) 51x2y3 PEN P EN 12x%y° + X% - lﬂxzy3
3 2 8 7

2
163) 12m°n® - P 1+ lgm3n3 +1+ 1%m3n3

4 1 11
164) mn+1o + 14 mn-11 + 6> - T
9 1 10 11 12

1 1 3
165) 11u®v +=uv? + =u?v - 1§u3v2 PEIY
2 6 5 3 4

-12-

3
—ud+= +6iu +1§
10 6



7 3 7 2 3 3 3,,3 1 2 1 3,3
166) 2—y° ——xy- +2y° + 4—x’y” + 5—xy“ + 1—X
) oV TV T A Y S Xy 1oXY
2 4 3,2 1 2\,2
167) —xy + 3=x3y? + 3=x%y? + 8x%y? +1 X2y? — 2xy
3 7 3
S 2 3 3 2 2 1 3 7 3 2 3
168) 2—xy* +4—X"+—Xy" + Xy +4—X +_X
) 6Xy 5 5xy 3 Y 10 3 y
2 2 1 3 3 2 3 1 3 1 3
169) 3—x“—-1-y  +2y° +—xy° +1—-xy’ +6—
) 5 SV Ty Aoy 60y

5 3, s 1 9 1,
170) 3—xy + 1—X°y + 2X°y — —Xxy + —Xy — —X
) 6xy p y y 8xy 11xy . y

8 11 .5 1
171) 2— +ig g+1% x -1
) 2y, Ty y’ 109

1 2 1 5
172) Sy -2V + X3V + =y + 6—xy° + 8
)6y 5 y y 2y 7xy y

1
173) =x3y - 1£x3y3 + 2ﬂx2y + 22x3y3 + 3lx2y - 1§x3y3

4 12 S 7 10

1 4 1 1 1
174) =xy? = 1—x+=xy> = 1=xy? + xy?> + 5=y?
)3><y s 2><y 2><y Xy 3y

175) 33028 - 208VP + 1503 + 31UAS + 45U - 12038
4 4 2 8 8

1 1 2
176) —y +3x +61 xy +1 y +4 y +—xy

1 1
177) 93b—1-2ah? + 5b—11ab? + =+ 9p?
4 11 12 7 4
2
178) 1iuv Zpve 2l o1t 1gu3v3 + lgu3v
10 11 4 10 9

5

- 13-



1 3
179) 590 1246 8120+ TR 452 180) 6iab+3°a+> —1%a+12ab+2
7 7 3 3 6 8 2 7 5 9 11
3
181) 2122+ 3apt + 12 ap® - 1207 + 5287 + 4%
6 4 11 2 8

7
182) 12412807 +a%° - 11 +-a%® + 12ab?
3 77 4 11 3

1 7 11 1
183) m?n +6=m?n? + —m?n + 1—m?n? + 5-m?n? - 2m°n
8 10 12 2

9 3 5 1
184) —ab? #3242 g2 3ap2 418 185) 2£y+— +12 4 1§y+— + 1§y
11 12 5 7 7 127 11 5 77 2 6
6 11 1 ., .2 4,
186) 3oxy - —y+—xy2 +1oxy+y-1-
) 7xy 12y 10 Y 3xy Y 5xy

6 2 1 2 5 2 3,2 2 1 2
187) 5— -3—x“+1— + Xy +7 +2—X
) 7xy 3 gxy y Xy 7

1 9 , 3 3, ;
188) 2—+1—xy+1—-1—XxXYy+2xy-2
) 4 10077 T w0 y
3, 4, 1 , 10
189) 1—x%y + 2y + 4—x°y + 1=y + 2X°y + —
) 10 y+2y s y 3y y 11y

2 1
190) 13003 + 65 + 203 + 35y + v - 19038
4 5 7 2 4 7

3 7
191) 2L men - 12mPn® + 1=mPn + Smen® + 2P0 + ——min
2 7 10 4 11

1 1 1
192) 5202 - 8- a+ 2a+—b? + 1—a— 2b?
6 10 7 2 2

2 2 1 2 1
193) 1=xy® — 1=X°y? + Xy + =xy° + 52Xy + =xy°
) 107~ 1XY +0Cy 4 oy + 5y + o0y

- 14-



1
194) a’b + 1222202 + 12a20% — 12820 + ~a2b? + 2a2b
5 5 6 6
1 3
195) xy +1 xy +12 xy +1 xy +1 xy lgxy
2 4., 5, 1 2 1,
196) —y+1-Xy+6-Xy+1-y+1-y-2—X
) Y FHIoXY 6 Xy 1oy +loy =2y
7 1 1 1
197) 622 + 3-mPn? + 5mn? + 15mPn? + 1-59mn? + ——mPn?
9 10 8 2 9 11
5a3

1
198) ab? - 320+ Taratarr1tap? - 22
7 5 6 8

199) 4a’b® ~Zab+ 2ab+ 23 a%% + 22a%¢ - 6a
3 6 7 5

1 .13, , 5 5
201) 8= + 6—x°y — 15Xy — — — 16x%°y — —
) 3766 y y y

18 18
202) 1= 2 -1 - 13 % - 68 - 1% - 6o
3 19° 13 12 13 12

203) eixy it oaS 341324834130
17 19 4 19 4

15 2 o g al7 s 17
204) 37y~ 17X =5 =37y~ 5 -3
) 369 13" 20" 20"

4 1 8 1 8
205) —n - m?n? - 7=n+—n’m? - 7=n + —n°m?
5 2 9 2 9

12 12
206) 1iu3v2 + 7§uv N N VT Y
13 8 19 6 19 6

-15-



1 3,,3 3,,2 9 3,,3 1 3,,2 9 3,,3 1 3,,2
207) 1—Xx + 22Xy = 7T—X°y° + =X’y = 7T—X°y° + —X
) 20 y y 20 y 6 y 20 y 6 y

A

11 11
u V3——u2V2—2£ 3,3_~11 2.2

u‘v ucv
20 16 20

3
208) —udv® + T
8 2

1 4 8 1 8 1
209) =xy? + T—xy ——xy* - 1-—xy - —xy* - 1—
) Y TPV TR T T Y Y

3
8

3

1
210) 1252 + 810 — 203 + 2502 — 2% + 2517
18 5 8

6 3 9 9
211) —x%y° + 5=x%y — X2y° — —x%y - X%y - —x?
)7 y c y =Xy % y =Xy % y

3 3
212) 113 - 2230 - S 230
15 13 11 5 11 5

5 8 4 5 4 5
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)( 1Y Xy) ( P T 50" 0 a6

1 21 , 19 2
471) |— + 15— 1—vy°+ 10— 19—y + 30
) (49)(y y) ( 26y 42 y) ( 9y y )

472) gxy *5T, 3Y) (—xy 10 —y ) ( 1%xy + 11;—x3y)
473) (1 i—gf +8 17x2) + (4i 2 - 1%y3) (1gy3 + 14—x2y3)
474) (1 D2 423 23x3) + (8 LIV 35x2) (6 X3 - Ex)

4 38" 15
475) (11x3y2 + 15i—§x2y) + (421_2 X2y -1 ;_;1 Xyz) + (8 % 21 g Xzy)
476) (;—2&/2 - %xzyz) - (%xzy2 + 4%xy2) + (154%x3 - e%xzyz)

1
iu2 + 9§uv3 + liu2 + 21£v2 —=u? - Zluv3
24 13 33 8 2

10£v + 10§ 24i - Ev + 14Zuv - 11
45 46 14 7 9 4

2 27 1 41 7
480) (4—m? - l—lmn) + (gmn ~1302) + ) (2 mn-1—m )

479) 131088 - 5058y - (12208 + 25220 | + (12082 + 18 5wy
2 45 2 42 7 19
( 4 45 22

19
481) 1gm3n3 - 1gm3) - ( 328 1£m3n3) + (—m3 120’

47 15 20 7
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9 5\ (13 5 13 1
482) [6—x+ 22— =y} +8—x|+[28=y®-2—x
)(34 y) (18y )( WY 36)
483) 13x2y2— — 2y2 — x2y? - 37
11 11 19 21 3
19 2,2 2 2,2 2
484) zxy +23=x°]+ X°y° +5—x Xy +1—x
4 5
485) ([u——v|+(19—u+1—-v|-|14—u-1—Vv
5 16
25 29 7 9
486) (15y° +10—x3 +—x3y| + [48x%y + 14—
)( Y 28 y) (36y 38 y) ( Y 24y)
487) 213822 + 1 1a2p| - (48T a2 + 2 ap| + [12-L a2 + 1012020
45 2° 30 13 18 42

488) (8b° +ab) - (141—77b3 + 192—(13ab) - (:L4b3 3— 16ab)

1
489) §x2y +152 4] - Bt x2y| - 1éx2y RPE
4 34 19 26 23 22

1 1
290) (2% + 2| - (922 m+ 20202) + (21202 + B
2 13 46 42 15 33
3 3 5 7
491) (=xPy+3— 4—y+24-—x 19—y - 30%°
) Xy 16y) ( y+245 y) ( 27 y)

8 3,2 2 2 3,2 4 2 6 3:,2
492) [(36—=x3y? + —vy?| — [2y? - 1=x3y?| - |20=y? + 25—x
) 5 y y) (y 3 y 5y - y

493) [19—x7y” +18—X +(24—Xy" +1— 1 -—
) ( 44 Y 24 Y 48 Y 19 <y Xy 41 Xy

121 X2y + 192 x 02,10 X2y | + 1228 2y+615
25 11 36 49 38
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10 4 10008 + [1 B0+ 72808 - (Brp 4 02
46 5 28 29 26 30

2 2,,3 S 3 1 2,3 2 3 31 2 22 2,,3
1 Xy + 1 Xy + |1 Xy + =Xy = [/ X+ X
Y 3 y) ( 36 Y 5 Y 36 27 Y

499) 25£b3 + 17ﬂa3 + 4£ab3 + 17§b3 - éab3 + BbZ
48 6 50 25

500) (—a’b+ 72
11 11

b3 + 1b3+43a3b + 1£a2b2+1§a3b
8 49 17
5 4 1 3
501) 2x2v2 + xv2 + —x2v2 + =xv2 + —x2v2 + Oxy2
) 3 y©+Xxy 9 y 4xy 5 y“ + 9xy

1
502) 2§x3y2 - 2xy% + xy? + S%X?’y2 + 1§xy2 + gx?’y2

2 2
503) 11ab% + 2p* + 310t 4+ 2ab® + 12a0° - 2p?
2 7 6 6 6 3

5 7 3
504) —u*v® + T IRLAT NI I N A
6 10 8 8 4 3

S 9 3 4 3
505) =x%y - 2—x°y* + 4=x%y + 3x%y* + —x%y - 3=x°y°
) 7 Y 10 Y 4 Y Y 5 Y 7 Y

1 2 4 2
506) 2xy” + 6xy> + 5=xy® — =xy* + —xy* = =xy°
) 2Xy“ + 6xy Y TV Y Y

7 1 4 1
507) 3—m>n® + m?n® + Emzn3 -9m®n® + 1gm2n3 +5-—m°n®
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2 5, 5 .1, 1 4,
508) 5= +1-y2+— +1-y2+= +4—
) Sg Tl g Ty Ay

1 2
509) 130 - Luty + 20 + 210ty + Sty 4 328
4 2 3 3 10

4
510) 2Tt e 132+ 200 - 12028 + 1 + 3002
9 7 9 6 7

1

—ab"' _ E
10

1 1 2
511) 33p% - La2p + 5-Lap? + 2pt + a’b®
7 2 10 3 3

1

512) 3l a2+ 1 02m2 4 5§a4 - 1§a2 +1282 + 18

10 2 5 5 6 2

1 1 2

513) 21u ALV RN 1gu2v + =3+ =v?

2 8 7 3 3 5

1 2 7

514) 180 + 52m+ 2-mn® + 202 + 202 + en

7 5 10 9 5 10

3

515) 11020t + 20t + 12mn® - 10mPn + 332 - 13

2 8 6 8

2.2 S 4 4 8 3.3 S 2.2 3.3
516) 2m“n°“ —-1—n"+2n" +1—m°n°+2—m"n° + 2m°n
6 9 8
2 1 4 2 4 3 5 1 3
517) =n* -2n+=n-2-n*+=-m+3-n 518) 1=xy+ y* +xy+4—y> + =xy+1=x*
) 3 8 7 3 5 ) 8Xy oy 8y 2Xy 4 y

1 3,,3 2,4 2 2 1 2.4 2 2.4 2 3,,3

519) 5—X°y° = 2X°Y" + 5=XYy - XY +3=-XYy +4—X
) 10V Y HSLXY m XY+ 30Xy ALKy

7 1 4 1 1
520) —x° = 3=x2y* + 1=x3 + 3=x%y* + 2x%y* - 1=x%°
)8 3 y c 3 y y 5 y

1 1 4 3 7
521) 5=x+ =y + 1—x+5=y* + 2y* + —xy*
) SOXHGY HIoXH Sy A2y oy
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1 1 1 2
522) =xy? + X' + 1-—xy® - 32Xy + =x%y? - xy?
)4><y 10><y Y XY Yy

523) Z%X2 - 1§x3y2 + 1%X}/ + 1§X3y2 + X3y2 — Bxy
2 1 3 1
524) 4=x%y — 1=x3y2 + 6=x3y2 — x4y3 + =x3y2 — x4y3
) 40Xy - LY+ XY =Xy + oy =y
1 3. 354,.3 3 .15, .6 3 354
525) 6— +—X +1— +1=X +3— +=x
) Oy Y LY XY 3Dy gy
1 1 1 2 1 9
526) 1=x2V3 + 1=x2V* + 22x28 — 25524 + 4=x2yv3 — 1= x4
R A A R T
1 1 3 1
527) 2uv® +=ulv® + =udve - 1§uv3 +—udvd - =
2 2 9 8 2

528) 31a4b4 - 8b% +2b° + 15:;1%4 + 1a“b4 - 13b3
8 4 6 10

4 1 1 1 1 1
529) 2—y* —1=xy* + 1=xy* + 1=y* + =xy* + 3=y*
) 7y 5xy 5xy 3y 2xy 3y

1 1 1 2 1
530) =x3y + 8x%y2 + 1=x%y + 3—xy> + =x%y — =x%y°
)4 y y g y 1Oxy 3 y 3 y

2 1 9
531) 52m— 2P + Sm+ 32m2n® + —m+ 1-men?
6 5 2 9 10 3

532) ng + Z%X“y3 +2x = 2x%° + 1§X + 2x%y°

1 1 1 1 5 2
533) 1-x - 3=x'y +=x+2=x%y + =x'y - 1=x
3 3 5 2 8 9

1
534) —u’v* - 134 3t 12 4 3§u2v4 12
2 8 5 9
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7
535) — +1 +2= +2 x +2 +1—x*y4
) y 10 x*y* 8y y* y 10 X'y

5
536) — +1§x4y+ x4y+31+1§+33x4y 537) 51 45203 +520% + 35 + 15 + 4243
8 4 2 8 10 9 5 2 2 5 5
5, 1 1, 1, .1
938) 5—XY+4—X+1-X" —2xy+ X" —2=X
) 6 Y 3 5 X 2 5
4 4 S 3,,3 3 6 3,,3 3,,3 3
539) 4Exy +3€xy +xy—17xy +2X°y° - 8X°y

1 2 7 1 3 3
540) 2=x°y* - 1=yt + —y* + 3=xy® + 1yt + 2= xy?
) 2 Y 5y 10y 4Xy 10 Y 5Xy

1 4 2 3., 5
541) 5=x3y? + 4= +4— 1 X3y + = x +=
) > y? 5y 0y 5 y? y? y

S 4 4 3
542) 1= x4 +xy° + 25NV + xt + 1=xY? - 3—xy°
) XY xy® sy XY 1Oxy

4 4,4

+1E75xy +1ly

1, 5 5
543— 2=xy* + 4=xy* + 4=
) 9Y72, Y 6 7 6’ 10

3
544) —uv® + 231320 22022 s a2 + 1L
7 5 6 3 8
3 3 1 .5
545) 1-x%y2 4+ 2Xx%y? + 2+ —x*y + 1= + 2=x%y?
) Y y YL AR
1 1 1 6 2
546) 9xy* +5=xy? + =xy® - =xy* + 9—x%y? + 1=y°
) Oxy 3V TV TN Xy Y

5

547) 3a’b + 3= ab4+13ab4+ Lo+ Lapt — 3202
8 4 2 6

4 3 3 1 2 7
548) —y? — 25x%y? + 2—x*y* + =Xy + =x2yS — 1y
)5y p y 0 y 5 y 3 y 8y
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549) 110204 + 31apt + 33ab® — 324207 + 7a2b? - 25a20"
2 2 4 5 4
2 7
550) 23 2202 + 3102 + 20202 + atath + 12402 - La2p?
10 2 9 2 7 9
9 7 3 3 4
551) 4—xy + x*y? + 3—x*y? + 5=x%y + 3=xy - 3—x°
) 10V TXY FIGXY A5 XY+ 3T Xy =3 Xy
1, 1 1 7
552) 2=u® + =u’v+ 1-u’v* - 130ty + 2038 - 1-uty
37 2 2 5 10
2 4112 2 3 7 4 8 212
553) 1— ab+ ab +1— ab ab+3—ab+—ab
10 8 2 2 9 9
1 4 2 3,
554) 1—x+ 5x +1 X+ 15x+5-y-2=x4
) 2 Y 5 Y 3 3y 7 4
1 1 1 3 2
555) xy® +5=xy + =xy® — 4=y + 5=x%y - 1=xy°
) Xy Y TPV ALY XY~ 1y

3 7 1 1
556) 5—y—— +1-2y+5—y—-1—
) 8y 8 y 2y 3

2 5
557 +4x + +2x +1x 1—
) y 3y 3y 6y 6y y

3

5, 1
558)Ex 3xy+ xy+3 xy+1 xy 23‘y2
1 1
559) EX y*+ 1= xy+2 xy+4 xy +§x4y—1%x3y4

1 2 2 1 4
560) 3xy* + 1=x3y? + =xy* - 2=x%y? + 1=x4y* - 3=xy?
) 33Xy c y 5><y c y c y 5><y

1 1 1
561) 13a%b? + 247 + —a'b? + 31a?h + ~a'b? + ~alb
4 5 3 7 2
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1 3
562) 2tatp -2 tar1dastatnd +a+ Dot
2 10 5 4 8
5 1
563) —m>n° + —m+ 12m+ 135mPn® + 1> mn® + 52078
6 10 5 6 10 7
2 > 8 34,32 134,434, ,3°
564) 1 —XYy+5-XYy +—XYy-1-Xy +=Xy +3=X
) XY Oy XY = 1oXy Xy T+ 30Xy
1 1 1 1 7 1,
565) —x*y? +3=x* +1=x%y? - 3=x* + 1—x*y? + 1=x*
3 9 6 6 10 2
1 1
566) 5x*y* + 425+ 11x4y4 + =X+ 4§x"'y4 + =X
10 4 5 7 8
567) 5§m4n - \?.Em3n3 £ 2308+ 1S min + 1-1men® + 1-2mén
8 5 8 10 2 3
2 4 , 2
568) Zx2y" — 15x3y2 + 12 x +5—=x2y* + =x?y* + 8x3y?
) XY Ty y? XY XY y
5 7 1
569) st a2+ Lz e L 1tz s 3 tune
5 9 8 8 4 9
1
570) —mn° + 22 + 48— omn® 4 12mn% + 1208
2 3 9 6 7
1 1 1 2
571) =x%y +2—x3 + =x%y + 1=y% + X%y - 2x°
) Y2 XY LY A XYy

3 2

572) Z%abz + 2§ab3 + 2ab® + 4§a2b + 4éab3 -1-a%b

2 2 3 2 2 3 1 2 1 3
573) 2=xy? + 5x%y + 7xy? — 1=x° + =xy? - 1=X
) 3><y y+7xy 3 6><y 3

5 2 1 8 1
574) gmn3 + 1§mzn2 +—mn® +2=m? + —mn® + 3=m?
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575) llx“y + 31x4y2 + 2x%y? + 1ﬂx4y2 + léx“y2 + 8x%y
9 5 9 7
1 5. 13, .23 43 3,02 4.3
576) 1—Xxy" +—x"+4_X" =Xy  +Xy” +5=X
) 197 +3 3 Y X HSLXY
1
577) 2m?n + 12men2 + 422 + 2n2n + 15 + 2 men
3 5 6 2 4
3, 3, 5, 3,3 2,
578) 4=x3 + 12xy* + 32x% - 35xy* + = - 35
) 5 4Xy 8 4Xy 4 5xy
4 1 1 3
579) 1—x%y* + 10x%y? + =x*y* - —x°> + 5=x%y* - 2
) XY Y+ Y 0 gy

3 4 2 2,,3 7 4 2 4 S 4 1 2,3
580) 1 -X'y-1-XYy +1-Xy+4—x" +—X ——X
) 8 y 3 y 9 y 3 6 10 y
581) —xy+4 x3y v3l X2y — 1x3y‘1'+2xy2— =
8 8 5
1 4 3 1 5
582) 2=x'y* + 1=xy® + 15x* + 3=xy® + 1=xy® - 2x%y*
) g Y Tyl Y Ty y
1
583) 1208y - v+ avt + 3300y + 3200y + 20
6 6 8 5
1 2
584) atut v 5B 1130t - T B - S
3 5 9 2 3
585) 15x y+5 xy += xy x3y* + 19x3y—1%x3y4
4 4

586) 35m -1+m? +3+13+3
6 5 5

5 1
587) 10a°b - 13a% + 428% +2a% + 1a® - 2a%°
4 3 6 3
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2 4
588) 12 mn + m? + 2m? - 12 mPn + 5 2mPn -
2 7 8 3 7

589) y - 7x° + 1§y+ 5x? + 1§y— 8x°
3 3 1 2 3 1 2 3 2
590) 3—Xy+ X"+ 2X°y + —X° + 2X°y + 2X
) 05V 3 y*5 y
3 2 2
591) 4300 - 2 + S0P+ TV + 20V + 220y
5 4 9 9
2

2
592) TR Y S 9iu4v
9 5 9 2 10

3 9 , , .5 1 4 ,
593) —xy+5—Vy2 +2y? —2=xy+ 1=xy + 4—
)4xy 10y y 8xy 2xy 7y

1
594) 3ga4b —3 a2t oath - a2 + a2 + 1§a4b
7 9 6 5

595) éxy?’ + %xzy + Xy + 5§xy3 + 2%x2y + %xyg’
596) §X2y4 - 2§X2 + %xzy“ + 1%x2 + éxz - 3=x%y*
597) %xy + 1%X3y3 + 3%x3y4 + 5§xy + 5§x3 + %x?’y4
598) %ne’ + lgmzn2 + S%mzn2 - gne’ + 5én3 - lémzn2

7 1 4 4 4 1
599) 1—m°n? +2=mn® + 2—mn® + =m°n? + 22mn® + 1S
8 4 9 7 7 10

1 1 5 2 1 3
600) 2=xy” + =x*y? + =xy? + 3=x"y* + 4=x"y* - 1=xy*
) 297+ XYY Iy Ay - Ly

- 45-



13

5 2
603) 1202 + 2a%p| - (a2 + 22| - (71820 + 7-Lap?
8 13 11
4 3,,2 4 3,,2 1 4 4 3,,2
604) ?uv +1-u'v|-|1—u’v +Euv -(1-u"v+—u’v

11 3 4 4 2. ,2 3 3,,3 8 2. ,2 1 3
610) (3—x°y+—x"] —|14x +1—X —|1—X°y° +—X
) 12 y 5 ) ( y 4 y 13 y 3 y

3 1 1 1 1
P13 - (13 + Tyt - [Ty + 52X
Y 5 107 127 "7

612) 3 133 a?) - [ - gan| - [ - Lape
4 10 2 13 7

613) la2b3 + 1£a4 - Ea4 + 2§a2b3 - 41—3a2b3 + 1ga4
11 13 5 9 14 5
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629) (8xy—1—x3y) (7 X3y 1%x2y2) (1 X3y + x2y2)
1 3
630) [=xy+ x| - [=x® -—x%y| - [3=x-=x*
) () (-] (o 3)

2 2 1 3,,2 2 3,,2 4 2 2 3,,4
635) [1—x°—-1—X 3—X 2—X 1—x°——X
) . y) (3 y X Y
9 2.,2 2. ,2 1 4 2 4
636) [6—Xx+—X Xy +4— - -1—x
) 10 y) (7 y 12Xy y 5

1 4 3 13 1 4 1 4 3
638) [6=xy* —2x3| - [3=x® - —xy*| - |7=xy* + 1=x
) P ) (2 12”7 27T
4 8 9
639) (—y-y?|-|7—=y+5-—=y?|- —y
) Y y) (13y 12y) (y 10y)
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4 7 1 1 1
644) [7=x3y? - 1—vy| - [4=y - 12x3y?| - [6=x3y? - 1=
) s y y) (gy y ) y 2y

5 2
651) 6%X2y3 + 1_Xy4) _ (2%X3y2 _ %Xy4) _ (X3y2 _ Xy4)

3 1 1
652) 31—11uv + 2%u2v3) - (1gu3v + —u2v3) - (—uv + —u3v)

11 8 14 4
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653) 22une - 130 - (1200 + 1003v] - (22 0ey + v
2 4 7 6 12

1
654) (—a’b - 12220 - [ a2 - 12254) - [72a%b + 1102
12 5 13 13 8 3

6
655) 13ment + 728 | - [1=2ment - S - (8-t — 1.2 men®
4 11 12 7 10 3

2 , 1
656) (8a%b? + 3ab°) — |Za%h + —ab®| - (4L ath? - 21 a%
57 3 1 12

1 5 11 6 1
657) [2=x3y? — —x| = [13x + 1—=xy*| = [2—xy* + 1=x3y?
)2y )(6 12Xy)(1lxy 2y

y? - 158 - 11 + 71 - (32 ke - 11
14 2 6 11 2

9 3) (1 .1 7 2
1—xY? +4=] - | = - 123 | - |—=x®y* - 3=
Y ) (10 2" Y| 0" 77

2 1 2 1
664) 32m? + 2mtn?| - [22mn? - Zmr?| - (720 - 312
8 7 2 7 3
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2 1 11
671) [1=y+ 1—x**| - [5—=y+ 1=x**]| - [1=x*V* -1
)(3y 12 y)(lZy y Y 147
672) (4%a3b + 7—a3b3) - (2a3b + —a3b3) - (1Oa3b3 —a3b)
1
673) Emrlz——m“n3 - 9m4n3+1ﬂmn2 - 11mn2—13.m4n3
4 7 5 3

3 2.4 1 3,,2 6 3,2 1 2.4 1 2.4 5 3,2
674) [4—xy" +1—X —-13=xXy" ——X —|7—x°y" —3=X
) (#gXY 1Y 7Y Ty 10" T

675) 1Lt - 12| - [6-2ment + 12202 — [31ment + 51n2
14 14 11 10 8 6

1
—uv® - 1303 - 7£u3 - 1£uv3 —(3uv® + 1§u3
11 14 3

153 S 133 1 3,,3
677) |[5—Xx -— —|7—X - - |—X +
)( Y 6><y) (3 A I PR AR
2 4 1 3 2
678) |—x* — 2xv*| - [5—x%y? + 5=xy*| - |=xy* - 2=x*
)(13 Xy) (11 y 5Xy 4Xy 9
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1 3
679) (1Om2n2 - Em“) - (lgmzn2 - lime‘nz) - (Zm?’n2 - 1§m2n2)

14 14
680) LIV y? | - [2—=x* + :’>ﬂx3y2 —-5—x%y + 10x*
12 4 5 3
681) |—y* - 2=xy?| - [6—xPy + 2=x%®| - Xy - 1—y*
|0 y) ( S Y=gy
682) 4gy2 +5—x3y*| - 7ﬂx3y4 2—xNA| = |7T=xty2 + 252
9 1 9 4
683) (%y +5 i;xf*y“) - (1%x3y4 _ 3—y) _ (8x3y4 R 4—y)
5 2 4 11
684) |3x*y? - 2=x3y?| - [=x?y? - 3=x3y3| - [5=x3y? - 1=x
)( Y 7 Y 7 Y 7 y 14 y 2
685) Ey+511x2y4 6£x3y4 1533y = [1=x%yt + 153y
3 2 4
7 a1l . ; , \
686) 1EX y+ 11—3y —(1=X"y + 1=-xX°y| = [8X°y + 2—X"y
2
687) —x3y3—3l (2 1ty - (32 - 12
11 2) |5 73 6 6
7
688) :.’)EV4 -3 U4V3 ]_2u4v3 + 7i —|= — 21 4
8 9 8

9
691) 18020 — 1202 - [53a%02 + 9ab?| - (32 ab® - —-a%?
7 3 4 14 10
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692) 122202 + ab?| - (1224 + Sab?| - [Sa20? + 7-atb?

8 13 5 7 12
1

693) 12 22h 03| - [La2p? - 32atp?| - (52403 + 1-2ab?
10 4 5 7 3
1 3 3,,4 3 4 1 4 3,,4

694 —X°y" + 2X Xy =2—Xy| = [—=X"y — 8x

) 5 y' y) ( y =2 XY (Y y

3

695) 1> nPn? + 31 m n®| - [min® + 322 men2) - (12m2n2 + S

14 13 9 7
696) 4i =ut| - 3iv+ 1§uv3 N PRI 2£uv3

10 11 7 11 6

1 2 2 8 3,,2 6 2,,2 3,,2 3

—X + —|=Xy +4-x - [x%y? - 2—=x?

XY ) (11 yoray Y -2y

698) n+ 1—m n| - [{11n+ 5£m3n - 5£m3n PE
5 6 13 4

Ooll—‘

699)

-Moo

m?n — m*n? 1mzn + 1lm“n2 - 1m“n2 + 11m2n
3 10 3 2

1 1 7
1 x Ox® +5—y| - [1=x3y* + 7—x°
y- y) ( 1oy) (8 y 11

+ 20 oY ) (1 Ly 8Ey3) - (lgy3 - 12)(2)

700)

OO||—\

701)

mlm

17 14 8 13
702)

§
|
;
§
|
o
§
§
§
;
|

7 18 3 2 5 3,,2 5 2 1 2 3,,2
—X = 1 X + 10— -|= + 2X
9 ) (12 y 6Xy 5xy y

253

11

4 4 1
703) [1-u® + —u 2]+ (22 + ay] - (52 + 2202
5 5 16
704) (

a’b* + 5 b) (6 ab+1— 3b4) + (91a3b - 141ab)
3 7 4 2
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705) 1208 +1242) - (62 4 22| S (11 o1 2
9 7 18 14 5 10

1 1
706) (2a*b® + 20b) + Ly 10tp?) + (1 0% - 23y
4 6 19 14

uvt + 11u4v4 +|5v* + 1. Cf.lv4 - 1§u4v4
3 20 3 7

10 13

7

713) 15ix4y2 L I P2 13x4y2 -1+ 11x“y2
14 3
( 19

1 2
3238 - —u3) - (—u:”v3 + léu:") - (8£u3 + 1§u3v3)

2 3 1 1
715) (gmzn4 - 32m2n3) - (;mzn4 + —m2n3) - (—mzn3 + 4gm2n4
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X2y° — lzx3y) + (1%x3y + ZIEXZyZ) + (1£x2y2 + 8ix3y)

48

38 18
9 1 2
16—x° ——xy°| - [1=x° + —x°y| + 42x5+lix3y5
3 11 2 39 11

|
|
|
|
|
|
1245) (17205 -2 2y )+ (200 17207 (19 2yt + 102
|
|
|
|
|
|

16 , . 10 10 , .3 , 9 , .3
1=xy? + 21 —| + |[4=xy* + 10=xy?| + (1 -1=
23" ) (11Xy 5Xy) ( Y

11 16 5

- 05-



2 2 1 2 2 4 4
1252) (1— 1 20=x% - 1=x X" ——X
) 17 y) ( y-1g ) ( Xy

46 38 2
1253) (42x* 2+1o +[5x%y - 2—x3y| - [16—=x%y + 16=X°
)(y y)(y47y 45y 3y
1254) (

1 1 1
3,,5 5 3,,5 2,,3 5
X —39x 1—x°-1—x - 113—xy° = X

6| o

27 2 1 12 1
1255) |—uv? + 20252) - (02052 4 21 2202) + (180102 - 32132
3 35 29 25 21

1 7 27 1 7 1
1256) [5=x*? + 1—xy?| + [4=—x*? + 48—xy?| = [ 7—xy? + 1=x%?
) - y 9><y) (41 y Xy 44xy 5 y

13—a’b3 - iab - 11a2b3 + 1Eab - 22£a2b3 - 3lab
3 42 5 47 50

1—3b2
32

2 1 7 15 1
1259) (1—x*y +4x%y| - [1=xy + 1—x3y| + [2==xPy - 1=x*
) 39 y y) 2 4 12 4 46 4 2 Y
1
ix3‘+281x2y —x3—3ix2y - Ex2y+ 2230\
13 30 6 10 8 19

10 3 21 25 19
X4 3 +19— X4 3 _ 1= 2 +[1= 2 +_X4 3
y y 23 y 31 y 39 y 25 y
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19 2
1265) 19 +—3x3y - 23y + 251+ 12§+23§x3y
26 47 18 43 7

2
1266) —x?y + 13854) + (9x* + 9x?y) + 113x2y 17
31 42 20 38

7 13 38 5
1271) [2x% + 11—x3V? | + [1==x%y — 2x343 | + [1=xPy + 11—x%Y°
) 24 y) ( 15 y y 43 y y

28

9 8 5 4 17
1272) [41x + 17—xy*| = [1—x + 9—x*v*| + [20—xy* + 21—x*y*
) 1oxy) ( 43 18 y) ( 1sxy 22 y

3

1273) (3

- 133b + 20£b +2ab*| + |9 + 9E
20 22 18

22
1274) (ﬁuzv4 - ZQU) - (1%u + 17§u2v4) - (1£u - guzv?’)
1
5£v2 - lzu3v + 2§u2v2 - —ulv| - |29u*V? + 221u3v
38 6 14 2

14 5
—a’h* + BIEa5b3 -~ 12ib2 + 2£a5b3 +[—a®p® + 1ﬂa5b4
41 30 21 23 5

11 7 3 2
1277) [2x%y + —=x?| = [—x® + —x%y| - |10=x%y - x°
)(ylz)(lo 307 o VY
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7
1278) 1lv+—u 52| - [21-Lusvt — 12v) + [10208v% - Ly
17 19 12 8 33

1
1279) “mn® + 17 m +|2m* +8 11m +(47mn® - —m n°
3 20
3 8
Zoln2 + 2im4n3 +|—m?n+—-n?|-(1 1n2 + 6 m n®
45 11 23 9 2

1 15
_X2y5 + 23%X5) _ (1§y2 _ _XS) _ (71X2y5 + 23 256X5

- 08-



8

1291)
15

17 44 40 1 17
xYy° + 25—y’ | +[6—x"y’ - 1—y’| +[1=x"y° -3=—=y°
Y 327 5" 7 " Tag” o Y 730"

1292) (a+ 18 a50%] + (1-8a+ 25 L0504 + (8 10a5p% + 13124
48 47 12 45 25

37 44, .31 3 16 4 4 9 3 35 44,2 3
S—XY +1—y | +|19 XYy +4—y |- 14Xy +
45 Y 49y ) ( 23 Y 29y 39 Y 3y

11
8—

m3n? + 181—3mn
30 27

8 23m5n - 1gm3’n3 —(2m®n3 - 1lm4 + 9Em5n + Zimg‘n3
44 19 14

50

7 9 3
1299) |—m*n-—m®n?| + 11 w02 - 2 tn) < (62 + 1822 me
13 39 13 6 15

1, 13 17 ¢ , 25 4 1, 5 2
1300) [1—X°y ——X]| +|—X°y* + 23— Xx°y| + [ 1—X"y — 39X
) ( 2 y 14 ) (50 y 26 y 9 y y
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MATHX.NET
Polynomials - Simplify 6 monomials and fractions with 2 variables:
Simplifying monomials and fractions with two variables:

1
1) 2 a2 1324 ate2 C 1202 4 2020t +ata? alatnt o3 2482
3 7 3 8 2 3 56 6

1 7 1 1 3 3
2) 130202 — i + 1Em3n3 +2—m’n? + C%gmzn2 _33p Eng’m3 + 7gn2m2 - :%Zn2

6

> 3en+12n8 - 2%men -3 e + 3100 + 1 2
5 7 84 30 8

3) 11men+ 2t + 12020 - 15m
6 6 8 4

1 1 1 1 1 1 2
4) 3=V + 23 +35x3 +3=xy +1=xy -2y 5+ 1-vE 445X
) Y 5 5 y+1oXy -2y c Y Y

1 2 5 1 5 2 51 17 2
5) 3-xXY? + 4=+ 1-xy* = 3=xy® +4=xy? + =Xy 5 Xy + 1xy’ + 4=
) 4 Y 5 7 Y 8Xy 6xy 5 Y 140 / 24xy 5
1 1 2 1 6_ 1 1.1 1 7 4 6 23
6) 2x%° —y+ 3=y + 3%y + 33X - =Xy 5 VIR £RPHBERYH XY — —xy + 22Xy + =Xy —xyC X
) y -y 6y y 4 y 3 y 4y 372%)5( 52%74 y 8Xy Xy r y 7Xy 8 y

1 1,5, .1 1,5 .3 1 10, é;‘pé 16, 1 1 5 23 , . ,5
8) - +2-_ Xy +3-+1_ Xy +3—y-1—- 3_x91i +R+4_XT - Xy+4_xy+1-x 6__X"+3_xy+
) 2 7 Y 2 3 Y 4y 2 21 J 542y 27 2xy 3xy 6 35 6Xy

1
10) =x%° - 1%+ 21x3’y3 —ol 22y3 +3t lesy3 ol Zgy3 +13
2 2 5 2 3 4 10 2 3 4

1, .,1 1, 3 2 5, 8, 5, 3
11) 4=y +1-y+Sy3 + 15y +15y-12y2 4212y +4°
) Ay gy gy gy rlgymloy Ay oy Ay

5 3 1 3:,2 1 3,,2 1 3 3 1 3:,2 1 2,3 11 3
12) 3—y° —-1—x + 3—X —-—y°+5y° +2—x 4—y°xX’ +8—
) 8y 5 y 5 y 6y y p y 2 YEd
4 3 5 1 1 17 1
13) 1-X°y? +1=y? + 1oxy? + 2=y + 1-y° - 8x%y*  —4—y*x* +3y° + 2=
) c y 4y - y 4y 4y y 35y y 4y

3
14) 1121243, 3t gliqlpe 512
5 3 8 2 6 7 35 8 3



1 1
15) 3013t ovi et it 58 e L2
7 4 8 5 3 168 20

11
16) 22 r1tivostisear-o 13 st it s
6 2 6 4 12 2 6

1 1 1 1 1 7 1 11
17) 2=x%y? = 253y + 2x%y? — 1532 + 5x3y2 + 3—x%y? By + 9%y
) ) y p y 3 y 5 y 5 y 3 y m y 22

1 5 5 2 1 7 1 7 3 5
18) 1= +4=y* + 4=y + 3 + 1%y +—xy® 6%y + —xy® + 4P + 4P
) 15 g’ ""g"Y "5 2"V TgY g’ "Y' g”

1 1
19) 1-a’b*+2=-a+ 3§a2b2 -2a+ 2§a +5a2h% 10 a%h? + 212a
2 6 4 4 4 12

3 1
20) 32y + 1gy2 +=y% +3x+ 1§y2 +=X 4§y2 + 6 x
5 3 4 7 2 84 10

3

2
21) zgazb v Zan? + 23 + 4tan? + 12an? + 3242 727 2 3
7 5 7 4 2 4 28

b + 6—ab?
20

3 4 3 1 1 3
22) x%y? + 253y° + 25533 + =x%y? + 353y + 1ox3y? 853y + 3 xPy?
) X7y y PR A= Y XY XY 10V

4
23) 2n% + 23 o ratm i1ty 8§n?4r) 56%«%%3 - X+ 11x2y3 -x+=x%y°% - 13x 7£x2y3 33
4 5 5 8 4 8 8 5 4 40 4

1 2 5 5 5 9 1
25) Xy + =Xy + =Y + 1oy + 1oxPy - 1ox%y -y 4K
) Xy 2 Y S Y 7 Y 6 Y 8 Y 40 y 21"

1 3 1 1
26) =vZ +—u?v® + 1t ates it tipe ol 18
2 3 4 2 15

1 2 5 1 1 1 7 7
27) 3=y +2=xy + 1%y + 1oxy® + X%y - =xy® 5Py + 3—xy°
)3y Y g YTy Xy —oxy YRR AR ST

1
28) 3b° - 11ab3 + 11b3 —ab®+ 1b3 + 1ﬂab3 ——9b3a + 4lb3
4 4 3 7 28 12



5 3 1 3 1 13
29) 2x* —2=xy? + X2+ Sxy? + =XYP —=xy® Xy’ -3 xy” + 3%
) 6Xy 7xy 3 Y 4xy 3 y 84Xy

1
30) 4x2y2—5y3+4%y3+4%x2y2+y3—x2y2 7;y2x2+4y3

1 5 1 3 3 17 7 3
31) 12y + 1%y + 3y — 1oy + 15Xy + 2=y oy + 3y + 4o yK®
) PSR y-1lgxXy Hl xy+2oyn Oy gl TA WX

1 1 2 7 1 3 1 1
32) —uw -V +=uv-3vi Vv - Sutv - utv+ S - 332
2 8 3 8 4 4 12 2 4

1 3 1 5 4 1 11 4
33) 4=xy’ —1oXYP + 1Y - Sxy? + xyP =Xy =Xy Ayt + =X
) 2xy p y 5 y© - 7><y Xy s y p y 14><y c y

1 1 1 1 1 13 7
34) 1-udv- 13t L v v -+ —v
3 7 2 5 2 3 14 10

1 3
35) 2=uv® +6u + 1122 - 3§u +=u- 1§uv3 32122 - 1302 + 3
6 2 8 7 5 3 5 56
1 1 .. _5 , 1
36) 6a+4§ab+1§ab+2a b+7§ab—a 2a b+1SEab+5a

1 3 7 14
37) =uw® -udVi + 1t peatnse 3 3 a1y
3 3 4 5 12 15

1 2 2 1 1
38) 1o etns ol ins 2 s 1}(8@)1- 3R Zﬂxg‘y+—x2 +2y? +—y? +3x°
7 4 3 7 7 3 3 7 6 3

1 5 4 1 2 5 33
40) 1=x%* +3=y +8y° +2— +2= - 253y - AP+ 11y 4

) 1Y Sy F By ag e maxy y y 35

2 2 1 4 6 , 2 11 15 .2
41) =x3+1=x%y?* +1=X° x +—= x 1=y? 1 oxyP +25x3 - 15 yP
)3 77V T v V- 3’ 287 "6 37

1 7 1 1 1 1, 7 1, 11
42) 1=X+ =Xy +3=X+ =Xy + 353y + =x°y  3— Xy + 1-x°y + 4=
) 5 8 y 6 3 y 4 y* 4 y 12 y 8 y 30



1 1 2 l
43) =a’b-=a’b® + 22+ lat v ataz 122022 Lo 152 gt 220 + 4ty
3 2 5 7 3 3 2 15 3 21

5
44) 31x2y2 —3+45 1124325212 31x2y2 $2 254>
4 8 '8 7 7 4 56~ 56

45) L e s S it e mint o Xt + e
5 8 7 6 56

1 1 7 1 1 17
46) —udv-u?V? + 5032 + —ulv+2—udv+ 44UV 8-utVE +3 Uy
3 2 8 6 6 24

2 1 1 1
47) 1=mn+4=m*n+1-m°n® - 2m®n+ =mn + 220 1lnend + 2tome + 12mm+ 210
3 8 2 6 2 2 8 6 2

4 , 1, 1, 3 1 1
48) 1—-v° 23u +=v +23u i Ve \ﬁQ} % 2+—+21+41x y+11xy 6lx3y+31
5 5 7 8 2 2 2 5 3 10
1 1 1 1 5 1 27
50) 3=xy® —3=x+ xy® - 2x+ 1=x + 2xy° 6 ;B)j'ﬁ( 3t a +1-a®-3-a’*+1-a’-a?> -—a’-3-a’
) 2xy 5 a4 4 o 4 8 5 40
3 2 1 4 1 7
52) —y? —2=X + T=xX* +4—y* +2x* =2y* T—X* +3—V’
) 8y 5 2 5y y 10 40y
1 1 2
53) e o meneme—atnfne i+ Zmen 5 en 1207
6 5 3 2 7 105 3
6 6 1, 7 1 3.p .1 3 2 1 2
54) P +12+2 — 133442 x 1323 38 2+ TodP+R* - 6= +1-n’-1= 6-n’-
) y 7 7 y y y y +552222V| 6 )24 7 6 8 7 8 7
3 1
56) —x+2x2y3+22x+—x2y3+§x2y3—11x ZEx2y3+1§x
5 7 2 7 2 14 70

1 1 3 1 7 1 3 1
57) 2=x°y - 1=xy + 2=y - =x°yP + y +3=xy -y + 8-y’ - 1 yx+
) 2gXY T Iy H 2y m XY Ry 3 Xy oy Y T lyxty

2 4 3 4 14
58) 1-x3y — 2x3y3 + —x3y - 23y + 8x%yS —=x3y 6 xS - —x°
) Y y Xy y y o Xy S AT



1
59) 22ne1tcatn Loz eatmee 32 slienzegiln ol
7 8 2 3 2 6 6 14 24

3 3 5 1
60) —u’v - 1 aliey-Syeatvi 2y slus 1 By
4 5 4 4 7 6 3 140

1 2 5 3 3 3 1 3 11
61) 4=xy” —=x°y* +4=xy® — 6-X°y + 2=xy* + 1=x%?  1-—x%y? - 6-x’y + 11 xy”
) APY XY ALY =6 Xy + 27 )y + 10Xy XY e XYYy

62) 4—x -3—+X -2—+2—X"+2— 353} —]3)65 +—x° X+2— x+
) 6 y 6 y 5 4 5 23 y xy

3 3 2 3 37
64) 1-y-1= +4 +3=y?+1=y?+1-y 4—v*x+3 + 2=
) y 8y xy 2y 4y 7y 8y 8y 56y
2 5 1, 1 4 13 5
651x+3 +x—6+x+1 2—x3-=
) 3 xy Xy 3><y 25 Y
1 1 5 4 1 1 1
66) x2y2 —1-X2 +4=xV? - 13y + =3y = X3y 13y + APy - 1%
) Xy 8 2 6 y 5 y y 307 2 8

5 2 1 5 2 1
67) 4=y’ -3-y+y +2y+1-x+y® 6-y’-1-y+1-x
) 8y 3y y +2y p y 8y 3y p

6 1 3
68) —x—2x°y° + atx - =x%y° + 4t le:"y3 -=x%° + 5 x + 4+
7 4 2 6 8 8 28 6

1 1. .3 1 .1 3.1
69) —xy’ —1=+1-x+7xy° +1=-1=xy® 6xy°+1-x+—
) Y TG Dy Ty By
1 1 3 5 3;.2 13 1 3
70) =Xy + 2y +3oxy? - Xy +4-yP + =Xy oy +5—y® + 3= yx
) SXYHY ABYT XY ALY XY oy ST Y RSy

1 1 1 5 9
71) u?v+ 13n2 + 3t e + T2 #1100y 420 -3 + Uy
5 3 2 2 6 10

1 2 6 1
72) 3= +=m’n? +—m°n® + 12+ L v 22w 1 enz 14
2 3 7 2 5 21



1 6 6 2
73) 322 - 283 + 1087 +2a® + &%+ 2a’h®  2a’h? - Sa® +4-a?
7 S 3 7 S

13
74) 12—t + 22mt e 1 e+ 13m+ 120 4ntme g+ 15mm
5 5 4 4 5 5 20 4
5 1 1 3 1 5 1 3
75) 2=xy° + 3=x3y + =Xy = 2%y + 1oxy? + X%y 23y + 25 xS + =Xy + 1 xy?
)7><y YTy yrLpy Xy 20Xy F2oxyt Xy 1y

1 1 1 1 1 3
76) 1=a+ 1202 +3%a-2 2 +8a-31? —4la?+12°a
2 7 4 2 4 28 4

2 3_83

1 4 2 1 1
77) 1=xy° —1—=x+2xy° — 1 =X+ 2=x+ —xy° X
) 3xy 7 o 3 4 3xy 3xy 84

1
78) 2m°n + 32m+ 3§m3n +Tm+32m-Zmtn sinen+ 129,
6 4 5 2 4 30

1
79) ol 3leiateialil ale gleield
6 3 2 275 7" 3 15

1
80) ab+1 ab3+42a +2= ab+1 ab2+4 a’b 1 b3+1 32+ 7= 3 3b+42a
2 3 2 3 5 22 32 40 3

S 1
81) 1 3m n- 1§mn2 +5mn? + =m°n + 41mn2 +2mn 4—3m3n + 7§mn2
6 5 30 40

6 3 4 5
82) 2oc o1t S Byt 188y Ao 2y
7 7 4 7 7 7 84

5 2 1 1 5 2
83) 2X%V2 + XY + A=XPy + 4P + 2Py + 15Xy 8PP + TSP
) 3 y y 3 y p y y 3 y XY ) y

2 1 2 1 53 7
84) —uv? - 3=uv+ w2 e3dwe12n v 1t 322 e 1l
3 8 4 5 4 120 8

1 5 2 5 1 37 5
85) 1-y+1=-x3+1-y+3=x3+1-x*-=y 6—x>+2=
) 2y 5 6y 3 y y

7 2 42 6



5 1 1 1
86) —a’b - 128202 + 22220 + 12a2b? + 25a2h% — 3282 2—a?b® — “a?h? + 3-ath - 3242
6 8 3 8 6 7 6 2 2 7
2
87) 2102 4 2a2h® + 1202 - 2020° + 1207 — 15020°  —1°b%a2 + 5202
2 3 6 7 7 3

4 2 7 3 1
88) %22 — x3v3 + x2v2 — 233 + 45%3y8 — 1-x2\2 12333 + = x2\2
) X7y c y y y c y 3 y c y ) y

1 4 1 37 4
89) = - 32men? + 2omen2 - % pomenz —3L 2z g?
6 7 8 7 6 56 7
7 2 7
90) — +—=b+ a2 +12p+22 2%y 4253~ [pas3
8 3 8 3 2 5 8 15 8

91) 41u2v - 1guv + 3§uv +20%v + 11uv —203v¢ 2+ 6=u2y + Sl—guv
2 5 8 2 2 40

1 5 1 2 3 3 41 149
92) 4=xy* + 4=y + 2=y = 2-xy? + 3=oxy? + =xX%y? T xXCy + A ——xy?
) 8Xy 6 Y 4 Y 3xy 7xy S Y 60 Y 168)(y
2

3 1
93) 13m? - 14> 43t s 422 4 1202 10Lmn 1202 - 2
4 5 2 5 6 6

1
94) 22ab° — aPh + 45ah + 11ab® + 42ath + 32ab®  3-a%h + 8ab® + 4-alb
3 5 2 3 6 5 3

1 1 1

95) En3 +m?n® +2m*n% +n® + B%mzn2 -mn®  6-n’m’+1-n°-n’m
3 5 5 1 5

96) —v+2ud+uP+2>v+2-u-2u® UP+3-v+2-u
7 7 6 7

1 1
97) =X + =Xy + =Xy - 1—
)2 5 y y

2 3 1 3 1 9 1 2
98) —xy + =Xy’ +4=xy® +3=xy* + 1oxy> +2xy  5—xy’ +4-xy’ + 2=
)3xy 8xy 5xy 4xy 4xy Xy 2Oxy 8><y 3><y



1 2 11

99) 2+ 135+ 11x3y +=x+=x%y + 13 1=x% + 1°2x+3°

3 4 2 3 4 12 6 4

4 4
100) x°y® +2xy + Exzy2 - 8xy° + 3§xy -x%y* -8xy® + gxzy2 + 5$xy
2 1
101) 1l s e 2 - 28+ ez e a8 22 a2 sty
2 3 7 4 11 12 77

3 1 3 1 13
102) —b+1=a’b® +=b+=a%h® + 23b— 4022 —2b?a? +30
4 2 72 4 14

1 1 2 1 3 3 5 206
103) 2=xy° +4—x%y? + =xy® + =Xy +2—xy® - 1=x%y? 25y +A4——xy®
) 3xy 12 Y 7Xy 2 Y 11Xy 4 Y 6 y 231xy

7 3 1 3 7 109 1
104) 9y —2—y? +=y? —2=y+1-y+1—y* ———y +8=
) 9y 9y 5y 4y 4y 8y 360y 2y

5 4 3 19
105) —ab® - a’b® + 11a2b3 - —ab®+ 41a2b3 - Zab? 4§azb3 - —ab?
6 2 7 3 8 6 168

106) 4—xy  +4—-X"+5-X +4—xy "+ _Xy*+5—X 9—xy"+15—X
) 5xy 7 3 12xy 3xy 11 6OXy 231

1 17 1
3—6y3 -6—x*+3>y

107) 62y3 C122 + 1352 - 33y3 + 31y ot
3 4 11 2 11 33 44 2

1 1 1
108) 11m?n® + s+l s lmem s 12wt 122 128wt 4 3 L2+ X
8 4 3 11 6 33 24 4

432 5 1 3,2 432 1 3,,2 5
109) 5—x +5—xy +—X +2xy+ xy—1—x 4—xX +8—
)5y 12><yzy xyxy5y XY TRy

2, 2 8 » 2 11 , 5 1, 1, 1
110) 6—Xxy—1—X+5—Xy—-1—X+6— - 6X 6—XYy+6— -3—X
) 7 y 3 11 y 5 12xy y 77 y 12Xy 15

2 1 3 10
111) =a’b® + 41b3 +=a’b+=b®+4ab - 11a3b3 -—blad+ 45ba3 + 5ib3
3 2 6 5 7 21 6 10



1 9
112) 1w + 13m2n2 + T+ 2n2 + 12 4 32m2n2 210%m? + 500 2 4 12
8 4 4 10 12 9 8 12
1 1 2 2 10 1
113) 1-—x°y? = Xy + 2%y + =y* + 3=y - 8x%y*  4-yx’ -6y + —y°
)11y y y* 3y +3.xy y Y6 Y 3V
3
114) —y +6= y+1 y+4xy+—y +6i x3y 10 yx 1y3+23y2
12 28
1 .7 1 .1
115) 43x3y -3= 41—y -1-+2=x° - 6= 55—3x3y e T
10 4 12 2 2 3 60 2 12
1 1 8 1 1 1 23
116) 6=X*+6x°y + =Xy +—y? +2x* —2=y* 6 X’y +8-x* - 1—V?
) 2 U T i 2" YTy a2’
2 1 7 7 39 3 5
117) =x+—x3y2 + —x2y? = B5x+ 2—x3y° — x%y? 273y - xPy? -4 x
)7 1077 "0 g 7 y T N
4 5 7 1 1
118) 5——3§y+—y+ +2X°y+ =y 2%y - 2%1(9) G2+ 6ou- 42w 1Py 22U+ 1
5 77 6 12 9 126 60 2 3 1 5 3 11

1 5
120) 1=u?v + 52+ 352y + 202 4 2RV + 42 5Py 4 11
4 10 3 8

8 24 40
4 1
121) 12 v+ 2 v tveet re2tv+28 o liva102
10 9 4 5 10 9 20 15
122) b+1 3a20% + 52a2° - 32 b+21 a’b® - Eb 92— a3y
4 7 5 140 10

1 3 1 1 14 4
123) —utv? + —udv + 1222 - Levetiae o2y 2Bz 1B sy
11 5 6 3 2 8 33 120

124) 11—y  + Xy"+1—y° —2—X —X -3——y°X" +6—
) 10y y 3y 12 y y 11 y 132y 15y

1 11 1 4 3 115
125 —x - 1=x%y° + 4=y - =xPy? + —x%y® - 32X —X°y° +——x
) v’ 4 Y 12 Y 2 Y 9 Y 7 Y 21 / 198 /



1 1
126 x +x+6x +15y?+6 NG A— 6 X2 += +7
) =xCy° 3 y g y? 3y y> = =x%y l2y y yx y
1 4 2
127) 62x + 4ly2 +=y% + 333 +11x3 - 1§y2 11—x3 + 3—9y2
12 12 5 5 4 7 15 420

1 7
128) 8- 12 + 52ap2 + Th? + 1-2ab? + —ab? + 202 72ba+ 17— b7
11 3 3 2 6 11
4 1
129) m*n® + —m®n® + 13020% + S ren® + mPn® - 30?2 mPn® — 1
5 4 10 9 1

1
130) 23mem —Lid v a2t - 22 2 P 1 2mend 5 - i
4 2 5 6 3 3 60
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